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SCARF

Silkhair Degradée

Size: Approx. 48 x 244 cm

Materials: 100 g of Lana Grossa Silk-
hair Degradé (70% superkid mohair,
30% silk; 400 m/50 g) in Dark Green/
Petrol/Emerald/Yellow-Green (col 803)
or optional color (see color-chart) (col
801, 802, 804, 805, 806, 851, 852, 853,
854, 855). Size 6 mm needles.

Garter selvage: Knit the first and last st
of every row. Work a garter selvage
throughout.

Lace pattern 1: Multiple of 6 + 1 + 2
selvage sts. Work according to chart 1.
Numbers at right edge of chart indicate
RS rows; on WS rows, purl all sts and
yos. If you have two adjacent yos, purl
the first yo and purl thl the second yo.
Beg chart pat with sts before pat rep,
work the 6-st pat rep throughout, end
with sts after pat rep. Repeat rows 1 — 8
throughout.

Lace pattern 2: Multiple of 9 + 1 + 2
selvage sts. Work according to chart 2.
Numbers at right edge of chart indicate
RS rows; on WS rows, purl all sts and
yos. Beg chart pat with sts before pat
rep, work the 9-st pat rep throughout,
end with sts after pat rep. Repeat rows 1

— 32 throughout.

Instructions: Loosely cast on 72 sts.
Next WS row: Purl. Next work in lace pat

1 according to chart 1 for 26 rows = ap-
prox. 13 cm, then work in lace pat 2 ac-
cording to chart 2 for 384 rows = ap-
prox. 192 cm. Work in lace pat 1
according to chart 1 for 26 rows = ap-
prox. 13 cm, then bind off all sts loosely.
Finishing: Pin scarf to measurements
and block.

More at www.lanagrossa.com
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